

Dragan S. Djordjević; Predrag S. Stanimirović  
On the generalized Drazin inverse and generalized resolvent

*Czechoslovak Mathematical Journal*, Vol. 51 (2001), No. 3, 617–634

Persistent URL: <http://dml.cz/dmlcz/127673>

## Terms of use:

© Institute of Mathematics AS CR, 2001

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON THE GENERALIZED DRAZIN INVERSE AND  
GENERALIZED RESOLVENT

DRAGAN S. DJORDJEVIĆ and PREDRAG S. STANIMIROVIĆ, Niš

(Received November 13, 1998)

*Abstract.* We investigate the generalized Drazin inverse and the generalized resolvent in Banach algebras. The Laurent expansion of the generalized resolvent in Banach algebras is introduced. The Drazin index of a Banach algebra element is characterized in terms of the existence of a particularly chosen limit process. As an application, the computing of the Moore-Penrose inverse in  $C^*$ -algebras is considered. We investigate the generalized Drazin inverse as an outer inverse with prescribed range and kernel. Also,  $2 \times 2$  operator matrices are considered. As corollaries, we get some well-known results.

*Keywords:* Drazin inverse, generalized resolvent, limit processes, outer inverses, operator matrices

*MSC 2000:* 47A05, 47A10, 46L05

## 0. INTRODUCTION

Let  $\mathcal{A}$  be a Banach algebra with the unit 1. Recall that an element  $b \in \mathcal{A}$  is the Drazin inverse of  $a \in \mathcal{A}$  provided that

$$a^{k+1}b = a^k, \quad bab = b, \quad ab = ba$$

holds for some nonnegative integer  $k$ . The least  $k$  in the previous definition is called the Drazin index of  $a$ , and will be denoted by  $\text{ind}(a)$ . If  $a$  has the Drazin inverse, then the Drazin inverse of  $a$  is unique and is denoted by  $a^D$ . It is well-known that  $a \in \mathcal{A}$  has the Drazin inverse if and only if the point  $\lambda = 0$  is a pole of the resolvent  $\lambda \mapsto (\lambda - a)^{-1}$ . The order of this pole is equal to  $\text{ind}(a)$ . Particularly, it follows that 0 is not the point of accumulation of the spectrum  $\sigma(a)$ .

The Drazin inverse is investigated in the matrix theory [2, 3, 17, 26, 27], in the ring theory [10, 11, 12]. In [5, 20] the Drazin inverse for bounded linear operators on complex Banach spaces is investigated.

Recently, Koliha introduced the concept of a generalized Drazin inverse [15]. The generalized Drazin inverse of an element  $a \in \mathcal{A}$  exists if and only if  $0 \notin \text{acc } \sigma(a)$  and is described as follows. If  $0 \notin \text{acc } \sigma(a)$ , then there exist open subsets  $U$  and  $V$  of  $\mathbb{C}$ , such that  $0 \in U$ ,  $\sigma(a) \setminus \{0\} \subset V$  and  $U \cap V = \emptyset$ . Define a function  $f$  in the following way:

$$f(\lambda) = \begin{cases} 0, & \lambda \in U, \\ 1/\lambda, & \lambda \in V. \end{cases}$$

The function  $f$  is regular in a neighbourhood of  $\sigma(a)$ . The generalized Drazin inverse of  $a$  is defined as  $a^d = f(a)$ . Notice that  $a^d$  is a double commutant of  $a$ . The generalized Drazin inverse retains some nontrivial nice properties of the ordinary Drazin inverse. For example, the continuity properties of the generalized and ordinary Drazin inverses are similar (see [16, 20]).

We mention that Harte also gave an alternative definition of a generalized Drazin inverse in a ring [10, 11, 12]. These two concepts are equivalent in the case when the ring is actually a Banach algebra.

On the other hand, in [21] Rose considered the Laurent expansion of the generalized resolvent  $\lambda \mapsto (A + \lambda B)^{-1}$  for square matrices  $A$  and  $B$ , and found several useful applications.

The purpose of this paper is to introduce several results which connect the generalized Drazin inverse and the generalized resolvent of an element of a Banach algebra.

In Section 1 we introduce the Laurent expansion of the generalized resolvent using the generalized Drazin inverse. In Section 2 we characterize the Drazin index in terms of the existence of a particularly chosen limit process. As corollaries we get some well-known results of Koliha [15], Rose [21], Meyer [18], Rothblum [22], Ji [14]. In Section 3 we use the resolvent expansion to compute the Moore-Penrose inverse in  $C^*$ -algebras. In Section 4 we investigate outer inverses with prescribed range and kernel. In particular, we prove that the generalized Drazin inverse has similar properties. Finally, in Section 5 we give a brief generalization of the well-known result of Meyer and Rose [19] concerning the Drazin inverse of a block  $2 \times 2$  upper triangular operator matrix. Also, we consider one special case with non-zero entries of a  $2 \times 2$  operator matrix.

## 1. RESOLVENT EXPANSION

Let  $\mathcal{A}$  be a Banach algebra and  $a \in \mathcal{A}$ . We use  $\sigma(a)$  to denote the spectrum of  $a$ . If  $K$  is a compact subset of  $\mathbb{C}$ , then  $\text{acc } K$  and  $\text{iso } K$ , respectively, denote the set of all accumulation points and isolated points of  $K$ . Also,  $\mathcal{H}(K)$  denotes the set of all complex functions which are defined and regular in a neighbourhood of  $K$ .

Let  $0 \notin \text{acc } \sigma(a)$ . If  $p = p(a, 0)$  is the spectral idempotent of  $a$  corresponding to 0, then  $ap$  is quasinilpotent, and  $a(1 - p)$  is invertible in the Banach algebra  $(1 - p)\mathcal{A}(1 - p)$ . Using the well-known properties of the functional calculus, it can be easily seen that  $a^d$  is equal to the ordinary inverse of  $a(1 - p)$  in  $(1 - p)\mathcal{A}(1 - p)$ , i.e.  $a^d = [a(1 - p)]_{(1-p)\mathcal{A}(1-p)}^{-1}$ . We can write

$$(1) \quad a = ap + a(1 - p)$$

and (1) is called the core-quasinilpotent decomposition of  $a$ . Also,  $p = 1 - aa^d$ . If  $a$  has the ordinary Drazin inverse, then  $a^d = a^D$ . In this case the core-quasinilpotent decomposition reduces to the well-known core-nilpotent decomposition.

Recall that  $a \in \mathcal{A}$  is  $g$ -invertible provided there exists  $b \in \mathcal{A}$ , such that  $aba = a$ . In this case  $b$  is a  $g$ -inverse, or an inner inverse of  $a$ . On the other hand,  $b$  is an outer inverse of  $a$ , if  $bab = b$ . Notice that  $a^d$  (if it exists) is an outer inverse of  $a$ .

Various expressions and applications of the resolvent  $\lambda \mapsto (\lambda - a)^{-1}$  are known in the literature (for example, see [22]). We shall generalize Rose's [21] and Koliha's [15] results.

Let  $b \in \mathcal{A}$  be such that  $ab = ba$  and  $0 \notin \text{acc } \sigma(a) \cup \text{acc } \sigma(b)$ . Then there exist generalized Drazin inverses of  $a$  and  $b$ , denoted by  $a^d$  and  $b^d$ , respectively.

We shall prove the following result, originally proved in [4] for complex matrices. Notice that the proof in [4] is essentially based on the fact  $\text{ind}(a) < \infty$ .

**Theorem 1.1.** *Let  $a, b \in \mathcal{A}$ ,  $ab = ba$ ,  $0 \notin \text{acc } \sigma(a) \cup \text{acc } \sigma(b)$  and let there exist  $(a + \lambda b)^{-1}$  for some  $\lambda \in \mathbb{C}$ . Then  $(1 - aa^d)bb^d = (1 - aa^d)$ .*

*Proof.* Let  $p_a = p(a, 0)$  and  $p_b = p(b, 0)$  denote, respectively, the spectral idempotents of  $a$  and  $b$  corresponding to the point  $z = 0$ . Then  $1 - aa^d = p_a$  and  $bb^d = 1 - p_b$ . We have to prove  $p_a(1 - p_b) = p_a$ , or, equivalently,  $p_a p_b = 0$ .

If  $a$  is invertible, then  $p_a = 0$ , so the statement of Theorem 1.1 holds.

Suppose that  $a$  is not invertible. Then  $(\lambda b + a)$  is invertible for some  $\lambda \in \mathbb{C} \setminus \{0\}$ . Since  $(\lambda b)^d = \lambda^{-1}b^d$ , we may assume that  $\lambda = -1$ , so let  $(a - b)$  be invertible. We have to prove

$$\frac{1}{2\pi i} \int_{\gamma} (z - a)^{-1} dz - \frac{1}{2\pi i} \int_{\gamma} (u - b)^{-1} du = 0$$

for a suitably chosen contour  $\gamma$  around the point  $z = 0$ . Notice that

$$(z - a)^{-1} - (u - b)^{-1} = [(u - z) + (a - b)][(z - a)^{-1}(u - b)^{-1}].$$

Since  $a - b$  is invertible, it follows that  $(u - z) + (a - b)$  is invertible for small values of  $u$  and  $z$ . We may take  $\gamma$  such that  $(u - z) + (a - b)$  is invertible for all  $z, u \in \gamma$ . Consider the function

$$F(z, u) = [(u - z) + (a - b)]^{-1}[(z - a)^{-1} - (u - b)^{-1}] = (z - a)^{-1}(u - b)^{-1},$$

which is continuous on the set  $\gamma \times \gamma$ , so the order of integration may be reversed if necessary. Obviously,

$$\left(\frac{1}{2\pi i}\right)^2 \iint_{\gamma \times \gamma} F(z, u) \, dz \, du = p_a p_b.$$

On the other hand, the functions  $z \mapsto [(u - z) + (a - b)]^{-1}(u - b)^{-1}$  and  $u \mapsto [(u - z) + (a - b)]^{-1}(z - a)^{-1}$  are regular in a neighbourhood of 0, so

$$\begin{aligned} \left(\frac{1}{2\pi i}\right)^2 \iint_{\gamma \times \gamma} F(z, u) \, dz \, du &= \\ &= \frac{1}{2\pi i} \int_{\gamma} \left[ \frac{1}{2\pi i} \int_{\gamma} [(u - z) + (a - b)]^{-1}(z - a)^{-1} \, du \right] dz \\ &\quad - \frac{1}{2\pi i} \int_{\gamma} \left[ \frac{1}{2\pi i} \int_{\gamma} [(u - z) + (a - b)]^{-1}(u - b)^{-1} \, dz \right] du = 0. \end{aligned}$$

It follows that  $p_a p_b = 0$ . □

The analogous statement in [4] is formulated using the condition  $\mathcal{N}(A) \cap \mathcal{N}(B) = \{0\}$ , where  $\mathcal{N}(A)$  denotes the kernel of a matrix  $A$ . However, if  $A$  and  $B$  are square matrices, then the following holds:  $\mathcal{N}(A) \cap \mathcal{N}(B) = \{0\}$  if and only if there exists some  $\lambda \in \mathbb{C}$  such that  $A + \lambda B$  is invertible.

Using Theorem 1.1 we prove a generalization of the well-known results of Rose [21] and Koliha [15].

**Theorem 1.2.** *Suppose the conditions from Theorem 1.1 are satisfied. Then in a punctured neighbourhood of  $\lambda = 0$  the following holds:*

$$(\lambda b - a)^{-1} = b^d(1 - aa^d) \sum_{n=1}^{\infty} (ab^d)^{n-1} \lambda^{-n} - a^d \sum_{n=0}^{\infty} (a^d b)^n \lambda^n.$$

*P r o o f.* The expansion  $\sum_{n=0}^{\infty} (a^d b)^n \lambda^n$  exists for small  $\lambda$ , since it represents the function  $\lambda \mapsto (1 - \lambda a^d b)^{-1}$ . From  $1 - a a^d = p_a$  and  $ab = ba$  we know that  $ab^d p_a$  is quasinilpotent. The expansion  $\sum_{n=1}^{\infty} (ab^d)^{n-1} \lambda^{-n} (1 - a a^d)$  exists for  $|\lambda| > 0$ , since it represents the function  $\lambda \mapsto (\lambda - ab^d p_a)^{-1}$ .

Using Theorem 1.1 we obtain

$$\begin{aligned} & (\lambda b - a) \left[ b^d (1 - a a^d) \sum_{n=1}^{\infty} (ab^d)^{n-1} \lambda^{-n} - a^d \sum_{n=0}^{\infty} (a^d b)^n \lambda^n \right] \\ &= b b^d (1 - a a^d) \sum_{n=1}^{\infty} (ab^d)^{n-1} \lambda^{-n+1} - \sum_{n=0}^{\infty} (a^d b)^{n+1} \lambda^{n+1} \\ &\quad - (1 - a a^d) \sum_{n=1}^{\infty} (ab^d)^n \lambda^{-n} + a a^d \sum_{n=0}^{\infty} (a^d b)^n \lambda^n \\ &= (1 - a a^d) \left[ \sum_{n=0}^{\infty} (ab^d)^n \lambda^{-n} - \sum_{n=1}^{\infty} (ab^d)^n \lambda^{-n} \right] \\ &\quad + a a^d + \sum_{n=1}^{\infty} a (a^d)^{n+1} b^n \lambda^n - \sum_{n=1}^{\infty} (a^d b)^n \lambda^n = 1. \end{aligned}$$

This completes the proof. □

If  $\text{ind}(a) < \infty$ , we get Rose's expansion, established in [21] for complex square matrices. If  $b = 1$ , we get Koliha's expansion in Banach algebras [15].

## 2. LIMITS AND CHARACTERIZATIONS OF THE INDEX

In this section we will consider various limit processes which are related with the generalized and ordinary Drazin inverses and the index of a Banach algebra element.

We state several algebraic results.

**Lemma 2.1.** *If  $a, b, p \in \mathcal{A}$  are mutually commuting elements such that  $p^2 = p$ , and  $a, b$  are invertible, then*

$$[ap + b(1 - p)]^{-1} = a^{-1}p + b^{-1}(1 - p) \quad \text{and} \quad [ap]_{p\mathcal{A}p}^{-1} = a^{-1}p.$$

**Lemma 2.2.** (a) *The number of elements of the set*

$$\{(i_1, \dots, i_l) : i_1, \dots, i_l \in \{1, \dots, n\}, i_1 + \dots + i_l = n\}$$

*is equal to  $\binom{n-1}{l-1}$ , where  $n \geq 1$  and  $1 \leq l \leq n$  are arbitrary integers.*

(b) Let  $v(n, l)$  denote the number of elements of the set

$$\{(i_1, \dots, i_l): i_1 + \dots + i_l = n, i_1, \dots, i_l \in \{0, 1, \dots, n\}\},$$

where  $n \geq 0$  and  $n + 1 \geq l \geq 1$ . Then

$$v(n, l) = \begin{cases} 1, & n = 0, \\ \sum_{i=1}^l \binom{l}{i} \binom{n-1}{i-1}, & n > 0. \end{cases}$$

The following result is a generalization of a large class of known results for matrices and very special elements of Banach algebras (see [17]). We frequently use  $(a^s)^d = (a^d)^s$  for an arbitrary integer  $s \geq 0$ , which follows from the definition of the generalized Drazin inverse and from the well-known properties of the functional calculus.

**Theorem 2.3.** Let  $a \in \mathcal{A}$ ,  $0 \notin \text{acc } \sigma(a)$ , and let  $s, l, t$  be positive integers. Then

$$\lim_{\lambda \rightarrow 0} (\lambda + a^s)^{-l} (a^d)^t = (a^d)^{sl+t}.$$

*Proof.* Let  $p = p(a, 0)$  be the spectral idempotent of  $a$ , corresponding to 0. Since  $a^d = a^d(1-p) = [a(1-p)]_{(1-p)\mathcal{A}(1-p)}^{-1}$ , using Lemma 2.1 we obtain

$$\begin{aligned} (\lambda + a^s)^{-l} (a^d)^t &= [(\lambda + a^s)^{-l} p + (\lambda + a^s)^{-l} (1-p)] (a^d)^t (1-p) \\ &= [(\lambda + a^s)(1-p)]_{(1-p)\mathcal{A}(1-p)}^{-l} (a^d)^t (1-p). \end{aligned}$$

Since the limit  $\lim_{\lambda \rightarrow 0} [(\lambda + a^s)(1-p)]_{(1-p)\mathcal{A}(1-p)}^{-l}$  exists and is equal to  $((a^s)^d)^l = (a^d)^{sl}$ , it follows that

$$\lim_{\lambda \rightarrow 0} (\lambda + a^s)^{-l} (a^d)^t = (a^d)^{sl+t}.$$

□

It is also possible to consider the limit of the type  $\lim_{\lambda \rightarrow 0} (\lambda + a^s)^{-l} (a^d)^t a^r$ ,  $r \geq 0$ , in Theorem 2.3, and repeat  $a^d a a^d = a^d$  several times, to get the known results for matrices [17].

We arrive at the main result of this section. The next theorem contains all known results for the limit expressions characterizing the Drazin index of an arbitrary square matrix. We will also use the expansion of the generalized resolvent  $\lambda \mapsto (\lambda b - a)^{-1}$  from Theorems 1.2 and 1.1.

**Theorem 2.4.** Let  $a, b \in \mathcal{A}$  satisfy the conditions from Theorem 1.1 and let us consider the limit

$$w = \lim_{\lambda \rightarrow 0} w(\lambda), \quad w(\lambda) = \lambda^m (\lambda b - a^s)^{-l} a^k, \quad m, k \geq 0, \quad s, l > 0.$$

If  $m < l$ , then the limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists if and only if  $\text{ind}(a) \leq k$ . If  $m \geq l$ , then the limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists if and only if  $\text{ind}(a) \leq s(m-l) + k + s$ . In the case when  $w = \lim_{\lambda \rightarrow 0} w(\lambda)$  exists, it is given in the following way:

$$w = \begin{cases} 0, & 0 < m < l \text{ and } \text{ind}(a) \leq k; \\ 0, & m \geq l \text{ and } s(m-l) + k \geq \text{ind}(a); \\ (-1)^l (a^D)^{sl} a^k, & m = 0 \text{ and } \text{ind}(a) \leq k; \\ \binom{m-1}{l-1} a^{s(m-l)+k} (1 - aa^D) (b^d)^m, & m \geq l \text{ and} \\ & \text{ind}(a) - s \leq s(m-l) + k < \text{ind}(a). \end{cases}$$

*Proof.* Obviously,  $0 \notin \text{acc } \sigma(a^s)$  for any integer  $s \geq 1$ . Theorem 1.2 yields that the following holds in a punctured neighbourhood of 0:

$$(\lambda b - a^s)^{-1} = \sum_{n=1}^{\infty} \lambda^{-n} (a^s b^d)^{n-1} b^d (1 - aa^d) - \sum_{n=0}^{\infty} \lambda^n [(a^s)^d]^{n+1} b^n.$$

We know that

$$(2) \quad (a^s)^{n-1} (1 - aa^d) [(a^s)^d]^{j+1} = 0, \quad n \geq 1, \quad j \geq 0.$$

Recall  $v(n, l)$  from Lemma 2.2. For any integer  $l \geq 1$ , using Lemma 2.2 and (2), we conclude that

$$\begin{aligned} & (\lambda b - a^s)^{-l} \\ &= \sum_{n=l}^{\infty} \lambda^{-n} \binom{n-1}{l-1} (a^s b^d)^{n-l} (b^d)^l (1 - aa^d) + (-1)^l \sum_{n=0}^{\infty} \lambda^n v(n, l) [(a^s)^d]^{n+l} b^n \\ &= \sum_{n=l}^{\infty} \lambda^{-n} \binom{n-1}{l-1} (a^s)^{n-l} (b^d)^n (1 - aa^d) + (-1)^l \sum_{n=0}^{\infty} \lambda^n v(n, l) [(a^s)^d]^{n+l} b^n. \end{aligned}$$

Now, for arbitrary integers  $m \geq 0$  and  $k \geq 0$  we get

$$(3) \quad \begin{aligned} w(\lambda) &= \sum_{n=l}^{\infty} \lambda^{m-n} \binom{n-1}{l-1} (a^s)^{n-l} a^k (b^d)^n (1 - aa^d) \\ &+ (-1)^l \sum_{n=0}^{\infty} \lambda^{m+n} v(n, l) [(a^s)^d]^{n+l} a^k b^n. \end{aligned}$$



We consider several cases.

Case I. Let  $m = 0$ . Since  $v(0, l) = 1$ , (3) becomes

$$(4) \quad w(\lambda) = \sum_{n=l}^{\infty} \lambda^{-n} \binom{n-1}{l-1} (a^s)^{n-l} a^k (b^d)^n (1 - aa^d) + (-1)^l [(a^s)^d]^l a^k \\ + (-1)^l \lambda \sum_{n=1}^{\infty} \lambda^{n-1} v(n, l) [(a^s)^d]^{n+l} a^k b^n.$$

Obviously, the limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists if and only if the principal part of the Laurent series (4) vanishes. It is enough to assume that the first coefficient of the principal part of (4) is equal to 0, i.e.  $(b^d)^l a^k (1 - aa^d) = 0$ . If  $\text{ind}(a) \leq k$ , then  $a^k (1 - aa^d) = a^k (1 - aa^D) = 0$  and the limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists. On the other hand, if  $(b^d)^l a^k (1 - aa^d) = 0$ , using Theorem 1.1 we conclude

$$0 = b^l (b^d)^l a^k (1 - aa^d) = a^k (1 - aa^d),$$

so  $\text{ind}(a) \leq k$ .

It is easy to see that  $\text{ind}(a) \leq k$  implies

$$w = (-1)^l [(a^s)^D]^l a^k = (-1)^l (a^D)^{sl} a^k.$$

Case II. Let  $0 < m < l$ . Then it is obvious that  $m - n < 0$  for all  $n \geq l$ . It follows that  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists if and only if the principal part of the Laurent series (3) vanishes. As in Case I, using Theorem 1.1 we can prove that the principal part of (3) vanishes if and only if  $(1 - aa^d)a^k = 0$ , i.e.  $\text{ind}(a) \leq k$ . Since the regular part of (3) has the form  $\lambda B(\lambda)$ , where  $\lambda \mapsto B(\lambda)$  is a regular function in a neighbourhood of 0, it is easy to conclude  $w = \lim_{\lambda \rightarrow 0} w(\lambda) = 0$ .

Case III. Let  $m \geq l$ . It follows that (3) has the form

$$(5) \quad w(\lambda) = \sum_{n=m+1}^{\infty} \lambda^{m-n} \binom{n-1}{l-1} a^{s(n-l)+k} (b^d)^n (1 - aa^d) \\ + \binom{m-1}{l-1} a^{s(m-l)+k} (1 - aa^d) (b^d)^m + \lambda C(\lambda),$$

where  $\lambda \mapsto C(\lambda)$  is a regular function in a neighborhood of 0. The limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists if and only if the principal part of (5) vanishes, i.e.

$$a^{s(n-l)+k} (1 - aa^d) (b^d)^n = 0 \quad \text{for all } n \geq m + 1.$$

If  $\text{ind}(a) \leq s(m-l) + k + s$ , then  $a^{s(n-l)+k}(1-aa^d)(b^d)^n = 0$  holds for all  $n \geq m+1$  and the limit  $\lim_{\lambda \rightarrow 0} w(\lambda)$  exists.

Now, suppose that  $a^{s(n-l)+k}(1-aa^d)(b^d)^n = 0$  holds for  $n \geq m+1$ . Multiplying this equality by  $b^n$  and applying Theorem 1.1, we conclude that  $a^{s(n-l)+k}(1-aa^d) = 0$  for all  $n \geq m+1$ , so  $\text{ind}(a) \leq s(m-l) + k + s$ . Now it is easy to verify that  $w = 0$  if  $s(m-l) + k \geq \text{ind}(a)$ , and  $w = \binom{m-1}{l-1} a^{s(m-l)+k}(1-aa^d)(b^d)^m$  if  $\text{ind}(a) - s \leq s(m-l) + k < \text{ind}(a)$ .  $\square$

In [21] Rose proved the existence of the limit

$$\lim_{\lambda \rightarrow 0} \lambda^m A^k (A + \lambda I)^{-l},$$

where  $A$  is a square matrix,  $l \geq 1$  and  $m+k \geq \text{ind}(A)$ . In the case when  $a$  belongs to a Banach algebra  $\mathcal{A}$ , the main part of our Theorem 2.2 is that the existence of the limit

$$\lim_{\lambda \rightarrow 0} \lambda^m (\lambda b - a^s)^{-l} a^k$$

implies  $\text{ind}(a) < \infty$ .

As corollaries, we mention the most important results, which are well-known for matrices and for a tiny class of bounded operators on an arbitrary Banach space. We point out the well-known results from the papers [1, 14, 17, 18, 21, 22]. Notice that all of these corollaries are proved for complex square matrices in the original papers.

**Corollary 2.5.** (Ji [14]) *If  $a \in \mathcal{A}$ , then  $\text{ind}(a) \leq k$  if and only if the limit*

$$w = \lim_{\lambda \rightarrow 0} (\lambda + a)^{-(k+1)} a^k$$

*exists. In this case  $w = a^D$ .*

**Corollary 2.6.** (Meyer [18], Rothblum [22]) *Let  $a \in \mathcal{A}$  and let  $m, k$  be non-negative integers. Then  $\text{ind}(a) \leq m+k$  if and only if the limit*

$$w = \lim_{\lambda \rightarrow 0} \lambda^m (\lambda + a)^{-1} a^k$$

*exists. In this case*

$$w = \begin{cases} 0, & m > 0, m+k > \text{ind}(a), \\ (-1)^{m-1} (1-aa^d) a^{\text{ind}(a)-1}, & m > 0, m+k = \text{ind}(a), \\ a^k a^D, & m = 0, k \geq \text{ind}(a). \end{cases}$$

Analogous results for matrices of index zero or one are proved by Ben-Israel in [1].

**Corollary 2.7.** (Meyer [18]) *Let  $a \in \mathcal{A}$ . Then  $\text{ind}(a) \leq k < \infty$  if and only if the limit*

$$w = \lim_{\lambda \rightarrow 0} (\lambda + a^{k+1})^{-1} a^k$$

*exists. In this case  $w = a^D$ .*

Some corollaries are also mentioned in [21].

### 3. COMPUTING THE MOORE-PENROSE INVERSE IN $C^*$ -ALGEBRAS

In this section we introduce further applications of the generalized Drazin inverse, such as the computation of the Moore-Penrose generalized inverse in  $C^*$ -algebras.

If  $\mathcal{A}$  is a  $C^*$ -algebra, then the Moore-Penrose inverse of  $a$ , denoted by  $a^\dagger$ , exists if and only if  $a$  is  $g$ -invertible, as is shown in a paper of Harte and Mbekhta [13].

We need the following result from the functional calculus in  $C^*$ -algebras.

**Theorem 3.1.** *Let  $a \in \mathcal{A}$  and  $f \in \mathcal{H}(\sigma(a) \cup \sigma(a^*))$ . If  $D(f)$  is the domain of definition of  $f$  and  $f(\bar{z}) = \overline{f(z)}$  holds for all  $z \in D(f)$ , then  $f(a^*) = f(a)^*$ .*

**Proof.** Notice that we can take  $D(f)$  symmetrically with respect to the real axis. Let  $\gamma^+$  denote the finite union of disjoint contours around  $\sigma(a^*)$ , positively oriented with respect to  $\sigma(a^*)$ . Then  $\gamma^{*-} = \{\bar{z} : z \in \gamma^+\}$  is negatively oriented with respect to  $\sigma(a)$ . We may assume that  $\gamma^+$  and  $\gamma^{*-}$  are contained in  $D(f)$ . Using  $\overline{f(z)} = f(\bar{z})$  we compute

$$\begin{aligned} f(a^*) &= \frac{1}{2\pi i} \int_{\gamma^+} f(z)(z - a^*)^{-1} dz = \left[ -\frac{1}{2\pi i} \int_{\gamma^{*-}} f(\bar{z})(\bar{z} - a)^{-1} d\bar{z} \right]^* \\ &= \left[ \frac{1}{2\pi i} \int_{\gamma^{*+}} f(z)(z - a)^{-1} dz \right]^* = f(a)^*. \end{aligned}$$

□

As a corollary, we get some useful properties concerning the Drazin inverse of selfadjoint and positive elements in  $C^*$ -algebras.

**Theorem 3.2.** *If  $a \in \mathcal{A}$  is selfadjoint and  $0 \notin \text{acc } \sigma(a)$ , then  $a^d$  is self-adjoint. Moreover, if  $a \geq 0$ , then  $a^d \geq 0$ .*

*If  $a$  is selfadjoint and  $\Delta$  is an arbitrary spectral subset of  $\sigma(a)$ , then the spectral idempotent of  $a$  corresponding to  $\Delta$  is positive, i.e.  $p(a, \Delta) \geq 0$ .*

**P r o o f.** Since  $a = a^*$ , the function  $f$  from the definition of the generalized Drazin inverse of  $a$  satisfies the conditions from Theorem 3.1, so  $a^d = f(a)$  is selfadjoint.

Moreover, if  $a \geq 0$ , then

$$\sigma(a^d) \setminus \{0\} = \{1/z : z \in \sigma(a) \setminus \{0\}\} \subset (0, +\infty), \quad [15]$$

so  $a^d$  is a spectral inverse of  $a$  (for the definition of spectral inverses see [2, 5]). We conclude that  $a^d \geq 0$ .

The rest of the theorem follows from the definition of the spectral idempotent and Theorem 3.1.  $\square$

We will use Theorem 1.2 and Theorem 3.2 to get some limit results concerning the Moore-Penrose inverse in  $C^*$ -algebras.

**Theorem 3.3.** (a) *Suppose  $a \in \mathcal{A}$ , where  $\mathcal{A}$  is a  $C^*$ -algebra and  $0 \notin \text{acc } \sigma(r^*s)$ , where  $r, s, t \in \mathcal{A}$  are arbitrary. Then the limit*

$$(6) \quad \lim_{\lambda \rightarrow 0} (\lambda + r^*s)^{-1}t = h$$

*exists if and only if*

$$(1 - r^*s(r^*s)^d)t = 0.$$

*In this case  $h = (r^*s)^d t$ .*

(b) *If  $0 \notin \text{acc } \sigma(r^*s)$ , then*

$$\lim_{\lambda \rightarrow 0} r^*(\lambda + sr^*)^{-1} = r^*(sr^*)^d = (r^*s)^d r^* = \lim_{\lambda \rightarrow 0} (\lambda + r^*s)^{-1} r^*$$

*if and only if*

$$0 = r^*(1 - sr^*(sr^*)^d) = (1 - r^*s(r^*s)^d)r^*.$$

(c) *If  $0 \notin \text{acc } \sigma(a^*a)$ , then*

$$\lim_{\lambda \rightarrow 0} (\lambda + a^*a)^{-1}a^* = \lim_{\lambda \rightarrow 0} a^*(\lambda + aa^*)^{-1} = a^\dagger$$

*if and only if  $a^* = a^*a(a^*a)^d a^* = a^*aa^*(aa^*)^d$ .*

**P r o o f.** (a) Consider the expansion from Theorem 1.2 (for  $b = 1$ ):

$$(7) \quad (\lambda + r^*s)^{-1}t = \left[ (r^*s)^d \sum_{n=0}^{\infty} (-1)^n [(r^*s)^d]^n \lambda^n + (1 - r^*s(r^*s)^d) \sum_{n=0}^{\infty} (-1)^n (r^*s)^n \lambda^{-n-1} \right] t.$$

Obviously, the limit (6) exists if and only if the principal part of the Laurent series (7) vanishes, i.e.  $(1 - r^*s(r^*s)^d)t = 0$ . In this case  $h = (r^*s)^d t$ .

(b) In this case we have  $t = r^*$  and (a) holds. Since  $\sigma(r^*s) \cup \{0\} = \sigma(sr^*) \cup \{0\}$ , we get  $0 \notin \text{acc } \sigma(sr^*)$ . Consider the following expression in a punctured neighbourhood of  $\lambda = 0$ :

$$\begin{aligned} r^*(\lambda + sr^*)^{-1} &= \frac{r^*}{\lambda} \left(1 + \frac{1}{\lambda}sr^*\right)^{-1} = \frac{1}{\lambda} \sum_{n=0}^{\infty} (-1)^n \lambda^{-n} r^*(sr^*)^n \\ &= \frac{1}{\lambda} \sum_{n=0}^{\infty} (-1)^n (r^*s)^n r^* = (\lambda + r^*s)^{-1} r^*. \end{aligned}$$

The rest of the proof follows in the same way as in (a).

(c) Now  $r = s = a = t^*$  and (a) and (b) hold. Then the limit

$$\lim_{\lambda \rightarrow 0} (\lambda + a^*a)^{-1} a^* = h$$

exists if and only if  $a^* = a^*a(a^*a)^d a^*$  and in this case  $h = (a^*a)^d a^*$ . From Theorem 3.2 it follows that  $(a^*a)^d$  is selfadjoint in  $\mathcal{A}$ . Now we verify  $h = a^\dagger$ . Obviously,  $hah = h$  and  $ah = a(a^*a)^d a^*$  is selfadjoint in  $\mathcal{A}$ . The equality  $a^* = a^*a(a^*a)^d a^*$  implies  $a = a(a^*a)^d a^*a = aha$ . Finally,  $ha = 1 - p_{a^*a}$ , where  $p_{a^*a}$  is the spectral idempotent of  $a^*a$  corresponding to the point  $\lambda = 0$ . From Theorem 3.2 it follows that  $p_{a^*a}$  is a selfadjoint idempotent in  $\mathcal{A}$ , so we get  $0 \leq p_{a^*a} \leq 1$ . It follows that  $ha \geq 0$  is a selfadjoint idempotent in  $\mathcal{A}$ . The rest of the proof follows from (b).  $\square$

Notice that the limit in Theorem 3.3 (c) is well-known for square matrices (see for example [21, 25] and references cited there).

We mention a few computational methods related to the limit representations of generalized inverses of matrices. An imbedding method and a finite algorithm for computation of the Drazin inverse, based on the limit representation of the Drazin inverse given in Corollary 2.5, is introduced in [8]. Ji obtained our Corollary 2.5 in [14]. He used this result to develop an iterative method for computing the Drazin inverse of a given matrix. In [24] a more general method for computing the limit expression of the form

$$\lim_{\alpha \rightarrow 0} (\alpha I + R^*S)^{-1} R^*$$

is developed, where  $R$  and  $S$  are arbitrary complex matrices. Partially, the method from [24] can be applied for computing generalized inverses contained in the limit expression from our Theorem 3.3.

#### 4. OUTER INVERSES WITH PRESCRIBED RANGE AND KERNEL

In this section we will consider the generalized Drazin inverse as an outer inverse with prescribed range and kernel. We restate some facts about outer inverses. Let  $X$  and  $Y$  be Banach spaces and let  $\mathcal{L}(X, Y)$  be the set of all bounded operators from  $X$  into  $Y$ . For  $A \in \mathcal{L}(X, Y)$ , we use  $\mathcal{N}(A)$  to denote the kernel, and  $\mathcal{R}(A)$  to denote the range of  $A$ . An operator  $B \in \mathcal{L}(Y, X)$  is an outer inverse of  $A$ , if  $BAB = B$ .

Consider the following problem. Let closed subspaces be given:  $T$  is a subspace of  $X$ , and  $S$  is a subspace of  $Y$ . Can we choose  $B \in \mathcal{L}(Y, X)$ , such that  $BAB = B$ ,  $\mathcal{R}(B) = T$  and  $\mathcal{N}(B) = S$ ? If such  $B$  exists, then  $B$  is denoted as  $A_{T,S}^{(2)}$ . It is well-known that for a given operator  $A \in \mathcal{L}(X, Y)$  and closed subspaces  $T$  of  $X$  and  $S$  of  $Y$ , there exists an  $A_{T,S}^{(2)}$  inverse of  $A$  if and only if  $T$  is a complemented subspace of  $X$ , the restriction  $A|_T: T \rightarrow A(T)$  is invertible and  $A(T) \oplus S = Y$ . In this case the  $A_{T,S}^{(2)}$  inverse is unique.

For example, if  $\text{ind}(A) = k$ , we can take  $T = \mathcal{R}(A^k)$  and  $S = \mathcal{N}(A^k)$ , to get  $A_{T,S}^{(2)} = A^D$ . In the case when  $X$  and  $Y$  are Hilbert spaces and  $A^*$  is the adjoint of  $A$ , we can take  $T = \mathcal{R}(A^*)$  and  $S = \mathcal{N}(A^*)$  to get  $A_{T,S}^{(2)} = A^\dagger$ , the Moore-Penrose inverse of  $A$ . We shall show that  $A^d$  has some similar properties.

The first result we state for a Banach algebra setting. We prove that the generalized Drazin inverse can be computed as an outer inverse with prescribed range and kernel, in form similar to [9, 26, 27].

**Theorem 4.1.** *If  $a \in \mathcal{A}$ ,  $0 \notin \text{acc } \sigma(a)$  and  $p = p(a, 0)$ , then*

$$a^d = \lim_{\lambda \rightarrow 0} (ga - \lambda)^{-1}g = \lim_{\lambda \rightarrow 0} g(ag - \lambda)^{-1},$$

where we take  $g = 1 - p$ .

**P r o o f.** For an arbitrary  $\lambda \in \mathbb{C}$  notice that

$$(ga - \lambda) = (a(1 - p) - \lambda)p + (a(1 - p) - \lambda)(1 - p) = -\lambda p + (a - \lambda)(1 - p).$$

There exists an  $\varepsilon > 0$  such that for all  $\lambda \in \mathbb{C}$ , if  $0 < |\lambda| < \varepsilon$  then  $a - \lambda$  is invertible. Using Lemma 2.1 we conclude

$$\begin{aligned} (ga - \lambda)^{-1}g &= \left[ -\frac{1}{\lambda}p + (a - \lambda)^{-1}(1 - p) \right] (1 - p) \\ &= (a - \lambda)^{-1}(1 - p) = [(a - \lambda)(1 - p)]_{(1-p)\mathcal{A}(1-p)}^{-1}. \end{aligned}$$

Since  $a(1 - p)$  is invertible in  $(1 - p)\mathcal{A}(1 - p)$ , it follows that

$$\lim_{\lambda \rightarrow 0} (ga - \lambda)g = [a(1 - p)]_{(1-p)\mathcal{A}(1-p)}^{-1} = a^d.$$

The second equality can be proved in a similar way. □

In the case when  $\text{ind}(a) = 1$ , the Drazin inverse of  $a$  is known as the group inverse, denoted by  $a^\#$ . In the next result we shall show how to use the group inverse of an operator to get the  $A_{T,S}^{(2)}$  inverse. This statement represents a generalization of the result from [26], stated for complex matrices.

**Theorem 4.2.** *Let  $T$  and  $S$  be closed subspaces of  $X$  and  $Y$ , respectively, such that for an operator  $A \in \mathcal{L}(X, Y)$  the  $A_{T,S}^{(2)}$  inverse exists. Let  $G \in \mathcal{L}(Y, X)$  be an arbitrary operator which satisfies  $\mathcal{N}(G) = S$  and  $\mathcal{R}(G) = T$ . Then*

$$\text{ind}(AG) = \text{ind}(GA) = 1$$

and

$$A_{T,S}^{(2)} = G(AG)^\# = (GA)^\#G = J(GA|_T)^{-1}G.$$

Here  $J: T \rightarrow X$  denotes the natural inclusion.

*Proof.* Since the  $A_{T,S}^{(2)}$  inverse of  $A$  exists, we conclude  $X = T \oplus T_1$  for some closed subspace  $T_1$  of  $X$ . Also, the restriction  $A|_T: T \rightarrow A(T)$  is invertible and  $A(T) \oplus S = Y$ . We can write  $A$  in the matrix form

$$A = \begin{bmatrix} A_{11} & A_{12} \\ 0 & A_{22} \end{bmatrix} : \begin{bmatrix} T \\ T_1 \end{bmatrix} \rightarrow \begin{bmatrix} A(T) \\ S \end{bmatrix},$$

where  $A_{11}: T \rightarrow A(T)$  is invertible. Also,  $G$  has the matrix form

$$G = \begin{bmatrix} G_1 & 0 \\ 0 & 0 \end{bmatrix} : \begin{bmatrix} A(T) \\ S \end{bmatrix} \rightarrow \begin{bmatrix} T \\ T_1 \end{bmatrix},$$

where  $G_1: A(T) \rightarrow T$  is invertible. We get

$$AG = \begin{bmatrix} A_{11}G_1 & 0 \\ 0 & 0 \end{bmatrix}, \quad \text{ind}(AG) = 1 \quad \text{and} \quad (AG)^\# = \begin{bmatrix} G_1^{-1}A_{11}^{-1} & 0 \\ 0 & 0 \end{bmatrix}.$$

It is easy to verify that

$$G(AG)^\# = \begin{bmatrix} A_{11}^{-1} & 0 \\ 0 & 0 \end{bmatrix} = A_{T,S}^{(2)}.$$

Notice that

$$GA = \begin{bmatrix} G_1A_{11} & G_1A_{12} \\ 0 & 0 \end{bmatrix}.$$

It can be easily seen that

$$(GA)^\# = \begin{bmatrix} A_{11}^{-1}G_1^{-1} & A_{11}^{-1}G_1^{-1}A_{11}^{-1}A_{12} \\ 0 & 0 \end{bmatrix}.$$

(Compare the last statement with our Corollary 5.2 in Section 5). It follows that  $(GA)^\#G = A_{T,S}^{(2)}$ .

To prove that  $J(GA|_T)^{-1}G$  is also equal to  $A_{T,S}^{(2)}$ , we use slightly different matrix decompositions. Let

$$A|_T = \begin{bmatrix} A_{11} \\ 0 \end{bmatrix} : T \rightarrow \begin{bmatrix} A(T) \\ S \end{bmatrix}, \quad G = [G_1 \quad 0] : \begin{bmatrix} A(T) \\ S \end{bmatrix} \rightarrow T.$$

Obviously,

$$J = \begin{bmatrix} I \\ 0 \end{bmatrix} : T \rightarrow \begin{bmatrix} T \\ T_1 \end{bmatrix},$$

where  $I$  denotes the identity operator on  $T$ . Since  $GA|_T = G_1A_{11} : T \rightarrow T$  is invertible, we compute

$$J(GA|_T)^{-1}G = \begin{bmatrix} A_{11}^{-1}G_1^{-1} \\ 0 \end{bmatrix} [G_1 \quad 0] = A_{T,S}^{(2)}.$$

□

Let  $X = Y$ ,  $A \in \mathcal{L}(X)$  and  $0 \notin \text{acc } \sigma(A)$ . If  $P$  is the spectral idempotent of  $A$  corresponding to  $0$ , then we can take  $G = I - P$  in Theorem 4.2 (also  $T = \mathcal{R}(G)$  and  $S = \mathcal{N}(G)$ ), to get  $A_{T,S}^{(2)} = A^d$ .

**Corollary 4.3.** (i) *If  $X, Y$  are Hilbert spaces and  $A \in \mathcal{L}(X, Y)$  has a closed range, then*

$$A^\dagger = [A^*A|_{\mathcal{R}(A^*)}]^{-1}A^* \quad [7],$$

(ii)  $A^D = [A^{k+1}|_{\mathcal{R}(A^k)}]^{-1}A^k$  ([26])  $= [A|_{\mathcal{R}(A^k)}]^{-(k+1)}A^k$ ,

(iii)  $A^d = [(I - P)A|_{\mathcal{R}(I-P)}]^{-1}(I - P)$ , where  $P$  is the spectral idempotent of  $A$  corresponding to  $0$ .

## 5. OPERATOR MATRICES

In this section we give a brief generalization of the well-known Meyer-Rose result [19] concerning the Drazin inverse of block  $2 \times 2$  upper triangular matrices. A general problem with non-zero entries is also considered.

Let  $X, Y, Z$  be Banach spaces and  $Z = X \oplus Y$ . For  $A \in \mathcal{L}(X)$ ,  $B \in \mathcal{L}(Y)$  and  $C \in \mathcal{L}(Y, X)$  consider the operator

$$M = \begin{bmatrix} A & C \\ 0 & B \end{bmatrix} \in \mathcal{L}(Z).$$



**Theorem 5.1.** *If  $A$  and  $B$  have generalized Drazin inverses, then  $M$  has the generalized Drazin inverse and*

$$M^d = \begin{bmatrix} A^d & S \\ 0 & B^d \end{bmatrix}$$

where

$$S = (A^d)^2 \left[ \sum_{n=0}^{\infty} (A^d)^n C B^n \right] (I - B B^d) + (I - A A^d) \left[ \sum_{n=0}^{\infty} A^n C (B^d)^n \right] (B^d)^2 - A^d C B^d.$$

**Proof.** Since  $A^d$  and  $B^d$  exist, it follows that  $0 \notin \text{acc } \sigma(A) \cup \text{acc } \sigma(B)$ . Since  $\sigma(M) \subset \sigma(A) \cup \sigma(B)$ , we conclude  $0 \notin \text{acc } \sigma(M)$ , so  $M^d$  exists.

Consider the Laurent expansion

$$(\lambda - M)^{-1} = \sum_{n=1}^{\infty} \lambda^{-n} M^{n-1} (I - M M^d) - \sum_{n=0}^{\infty} \lambda^n (M^d)^{n+1}$$

and similar expansions for  $(\lambda - A)^{-1}$  and  $(\lambda - B)^{-1}$  in a punctured neighbourhood of 0. Notice that

$$(\lambda - M)^{-1} = \begin{bmatrix} (\lambda - A)^{-1} & (\lambda - A)^{-1} C (\lambda - B)^{-1} \\ 0 & (\lambda - B)^{-1} \end{bmatrix}.$$

Comparing the coefficients at  $\lambda^0 = 1$ , we get the statement of the theorem. □

As a corollary we get the following well-known result [19].

**Corollary 5.2.** (Meyer and Rose [19]) *If  $\text{ind}(A) = k$  and  $\text{ind}(B) = l$ , then the Drazin inverse of  $M$  exists and has the form*

$$M^D = \begin{bmatrix} A^D & S \\ 0 & B^D \end{bmatrix},$$

where

$$S = (A^D)^2 \left[ \sum_{n=0}^{l-1} (A^D)^n C B^n \right] (I - B B^D) + (I - A A^D) \left[ \sum_{n=0}^{k-1} A^n C (B^D)^n \right] (B^D)^2 - A^D C B^D.$$

*If  $M$  has the Drazin inverse and  $0 \notin \text{acc } \sigma(A) \cup \text{acc } \sigma(B)$ , then  $A$  and  $B$  also have the Drazin inverses.*

Finally, we use a recent result of Förster and Nagy [6], to prove another representation of the generalized Drazin inverse of operator matrices.

Let  $V = \begin{bmatrix} A & B \\ C & D \end{bmatrix} \in \mathcal{L}(Z)$  be a bounded operator on  $Z = X \oplus Y$ . The following result holds.

**Theorem 5.3.** *If  $BC = BD = DC = 0$  and  $0 \notin \text{acc } \sigma(A) \cup \text{acc } \sigma(D)$ , then  $0 \notin \text{acc } \sigma(V)$  and the generalized Drazin inverse of  $V$  has the form*

$$V^d = \begin{bmatrix} A^d & (A^d)^2 B \\ C(A^d)^2 & D^d + C(A^d)^3 B \end{bmatrix}.$$

**Proof.** In [6] it is proved that  $\sigma(A) \cup \sigma(V) = \sigma(A) \cup \sigma(D)$ , so we conclude  $0 \notin \text{acc } \sigma(V)$ . We use  $\varrho(A) = \mathbb{C} \setminus \sigma(A)$  to denote the resolvent set of  $A$ . Using [6, Lemma and Theorem] we know that for  $\lambda \in (\varrho(A) \cap \varrho(V)) \setminus \{0\}$  the resolvent operator of  $V$  has the form

$$(8) \quad (\lambda - V)^{-1} = \begin{bmatrix} (\lambda - A)^{-1} & \lambda^{-1}(\lambda - A)^{-1}B \\ \lambda^{-1}C(\lambda - A)^{-1} & (\lambda - D)^{-1} + \lambda^{-2}C(\lambda - A)^{-1}B \end{bmatrix}.$$

There exist open sets  $U, W \subset \mathbb{C}$ , such that  $0 \in U$  and  $[\sigma(A) \cup \sigma(D)] \setminus \{0\} \subset W$ . Define a function  $f(\lambda)$  in the following way:

$$f(\lambda) = \begin{cases} 0, & \lambda \in U, \\ \frac{1}{\lambda}, & \lambda \in W. \end{cases}$$

Taking a suitable contour  $\gamma$  around  $V$ , we obtain

$$V^d = f(V) = \frac{1}{2\pi i} \int_{\gamma} f(\lambda)(\lambda - V)^{-1} d\lambda.$$

Using the well-known properties of the functional calculus and (8), we conclude that the statement of the theorem holds.  $\square$

### References

- [1] *A. Ben-Israel*: On matrices of index zero or one. *SIAM J. Appl. Math.* 17 (1969), 1118–1121.
- [2] *A. Ben-Israel and T. N. E. Greville*: Generalized Inverses: Theory and Applications. Wiley-Interscience, New York, 1974.
- [3] *S. L. Campbell and C. D. Meyer*: Generalized Inverses of Linear Transformations. Pitman, New York, 1979.
- [4] *S. L. Campbell, C. D. Meyer and N. J. Rose*: Applications of the Drazin inverse to linear systems of differential equations with singular constant coefficients. *SIAM J. Appl. Math.* 31 (1976), 411–425.

- [5] *S. R. Caradus*: Generalized Inverses and Operator Theory. Queen's paper in pure and applied mathematics, Queen's University, Kingston, Ontario, 1978.
- [6] *K.-H. Förster and B. Nagy*: Transfer functions and spectral projections. *Publ. Math. Debrecen* 52 (1998), 367–376.
- [7] *C. W. Groetch*: Representation of the generalized inverse. *J. Math. Anal. Appl.* 49 (1975), 154–157.
- [8] *W. Guorong*: An imbedding method for computing the generalized inverse. *J. Comput. Math.* 8 (1990), 353–362.
- [9] *W. Guorong and Y. Wei*: Limiting expression for generalized inverse  $A_{T,S}^{(2)}$  and its corresponding projectors. *Numerical Mathematics (A Journal of Chinese Universities)* 4 (1995), 25–30.
- [10] *R. E. Harte*: Spectral projections. *Irish Math. Soc. Newsletter* 11 (1984), 10–15.
- [11] *R. E. Harte*: Invertibility and Singularity for Bounded Linear Operators. New York, Marcel Dekker, 1988.
- [12] *R. E. Harte*: On quasinilpotents in rings. *Panamer. Math. J.* 1 (1991), 10–16.
- [13] *R. E. Harte and M. Mbekhta*: On generalized inverses in  $C^*$ -algebras. *Studia Math.* 103 (1992), 71–77.
- [14] *J. Ji*: An alternative limit expression of Drazin inverse and its application. *Appl. Math. Comput.* 61 (1994), 151–156.
- [15] *J. J. Koliha*: A generalized Drazin inverse. *Glasgow Math. J.* 38 (1996), 367–381.
- [16] *J. J. Koliha and V. Rakočević*: Continuity of the Drazin inverse II. *Studia Math.* 131 (1998), 167–177.
- [17] *I. Marek and K. Žitný*: Matrix Analysis for Applied Sciences. Teubner-Texte zur Mathematik, Band 84, Leipzig, 1986.
- [18] *C. D. Meyer*: Limits and the index of a square matrix. *SIAM J. Appl. Math.* 26 (1974), 469–478.
- [19] *C. D. Meyer, Jr. and N. J. Rose*: The index and the Drazin inverse of block triangular matrices. *SIAM J. App. Math.* 33 (1977), 1–7.
- [20] *V. Rakočević*: Continuity of the Drazin inverse. *J. Operator Theory* 41 (1999), 55–68.
- [21] *N. J. Rose*: The Laurent expansion of a generalized resolvent with some applications. *SIAM J. Math. Anal.* 9 (1978), 751–758.
- [22] *U. G. Rothblum*: A representation of the Drazin inverse and characterizations of the index. *SIAM J. Appl. Math.* 31 (1976), 646–648.
- [23] *U. G. Rothblum*: Resolvent expansion of matrices and applications. *Linear Algebra Appl.* 38 (1981), 33–49.
- [24] *P. S. Stanimirović*: Limit representations of generalized inverses and related methods. *Appl. Math. Comput.* 103 (1999). To appear.
- [25] *Y. Wei*: A survey on the generalized inverse  $A_{T,S}^{(2)}$ . *Actas/Proceedings, Meetings on Matrix Analysis and Applications, Sevilla, Spain, (EAMA), Sep. 10–12, 1997*, pp. 421–428.
- [26] *Y. Wei*: A characterization and representation of the generalized inverse  $A_{T,S}^{(2)}$  and its applications. *Linear Algebra Appl.* 280 (1998), 87–96.
- [27] *Y. Wei*: A characterization of the Drazin inverse. *SIAM J. Matrix Anal. Appl.* 17 (1996), 744–747.

*Authors' addresses:* University of Niš, Faculty of Sciences, Department of Mathematics, Ćirila i Metodija 2, 18000 Niš, Yugoslavia, e-mails: [dragan@archimed.filfak.ni.ac.yu](mailto:dragan@archimed.filfak.ni.ac.yu), [dragan@filfak.filfak.ni.ac.yu](mailto:dragan@filfak.filfak.ni.ac.yu), [pecko@archimed.filfak.ni.ac.yu](mailto:pecko@archimed.filfak.ni.ac.yu), [pecko@filfak.filfak.ni.ac.yu](mailto:pecko@filfak.filfak.ni.ac.yu).